
Subject: Re: Pooled Survey MeLogit Syntax Query
Posted by cmergenthaler on Thu, 28 Jul 2016 08:41:24 GMT
View Forum Message <> Reply to Message

Thank you very much - by excluding the pweight and using the v005/10000000 as the weight for
the cluster, the model converges! Much appreciated.
For others if it's helpful, that's:

generate weight = v005/10000000
egen clusters=group(survey v021)
svyset survey, weight(surveyweight) || clusters, weight(weight)
svy: melogit child_cough_care v476_1 i.v013 i.religion i.v106 i.v190 HIV_accept || survey: ||
clusters:

This has helped me to move forward with my analysis. 
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